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SSC/BANKING/RRB COACHING EXAM PROVISIONAL KEY ANSWER

ANS

D1

10
11
12
13

14
15
16
17
18
19
20
21

22
23
24
25

26
27
28
29
30
31

32
33
34
35

36
37
38
39
40
41

42

43

44
45

46

47

48

49

50

ANS
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30
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49

50

ANS

Al

10
11
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14
15
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18
19
20
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26
27
28
29
30
31

32
33
34
35

36
37
38
39
40
41

42

43

44
45

46

47

48

49

50




SSC/BANKING/RRB COACHING EXAM PROVISIONAL KEY ANSWER

ANS

D1

51

52
53
54
55
56
57
58
59
60
61
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64
65

66
67

68
69
70
71

72

73

74
75

76
77
78
79
80
81

82

83

84
85

86

87

88

89
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91

92

93

94
95

96
97

98
99
100

ANS

C1

51

52
53
54
55
56
57
58
59
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70
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74
75
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77
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79
80
81

82

83

84
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89
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98
99
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1. In arow of boys, ‘A’ is 7" from the start and 11" from the end. In another row, ‘B’ is 10"

from the start and 12" from the end. The number of boys in both the rows is :

(A) 40 (B) 39 (C) 38 (D) 37

2. Inthe numbers from 100 to 1000, how many times does digit 1 come at tens place ?

(A 9 (B) 10 (C) 90 (D) 900

3. How many combinations of two-digit numbers having the digit ‘8’ can be made from the
following numbers ?
85,2,1,7,6

(A) 10 B) 11 (C) 12 (D) 14

4. What will be the difference between the sum of the odd digits and the sum of the even
digits in the number 857423 ?
(A) 3 (B) 2 © 1 D) 0

5. Deepak is the brother of Ravi, Rekha is the sister of Atul, Ravi is the son of Rekha. How 1s

Deepak related to Rekha ?
(A) Son (B) Brother
(C) Son-in-law (D) Father

6. How many 3s are there in the following sequence which are neither preceded by 6 nor
immediately followed by 9 ?
9366395937891639639

(A) 1 (B) 2 (C) 3 (D) 4
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1. RRNG womd O ‘A’ Sesdor 73 dortp dodon 113 0RO Qo3 Forte ANR,WD
OO B’ oy Spcdod 103e Horie 2008 123 TOTE) Ao3wa. FIMET ST SPON)

Q03D e, c:lmé&%'ri%b :

(A) 40 (B) 39 (C) 38 (D) 37

9. 100603 1000 SSIAS Dosl,abe) Foal, 1 o) B BV FRRIQ WIS ?

(A 9 (B) 10 (C) 90 (D) 900

3. SuRR LosRY0T, 8 R BeoBDE O&) a0 vodab oV, B ?
8,521,786 |

A) 10 B) 11 C) 12 (D) 14

4 857423 Bosob owp U Roslv merte RebRosY Sy FIYTD -

A) 3 (B) 2 ) 1 (D) 0

5. Dezs mone B Jaeedow. Searo @ReF 3 IBREED. B Tesre¥ 2R, DIV DeE®

Searoort Bert BowopareNwgs ?
(A) a1 (B) R@eeds
(C) ePad (D) 3od

6. eBDT Boavy eI 6 8,03 SwoddTeN wo’VE Brte 9 8 o3BT WoBVT ad), INW /S ?

9366395937891639639

A) 1 (B) 2 () 3 (D) 4
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7. The missing number in the given number series from the given four alternatives is :

2, 8,26, 48, ?
(A) 154 (B) 120 (C) 82 (D) 80

8.  The missing number in the given number series from the given four alternatives is :

1,9,25,7, 81,121
(A) 36 (B) 49 (C) 64 (D) 57

9. In the given number series, find the number which is missing from the given four

alternatives.
1 2 4 8 5 32

3r ;5 15; a,-,ﬁ

15 24 16 25
A — B — o) i ==
64 ) 63 © 63 D) 63

10. The missing number in the given number series from the given four alternatives is :
10, 30, 68, 130, 222, ?
(A) 443 (B) 350 (C) 343 (D) 291

11. The numbers in the figures are related. Find the relationship and choose the missing

number from the alternatives.

LZO

(A) 24 (B) 30 (C) 36 (D) 42

5 | 6 | 24 30 | 2 | 3 | 45 18‘3 7 1 ?

12. The numbers are arranged in the given figure. The number which comes in place of * ? ’ is :

5 ?
: www_shikarat.com
3 8

(A) 9 (B) 10 (€ 20 (D) 1
Space for Rough Work / 2,083 30:3%; %%’-4
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B D Foey, BalrorabRPos Nedeed Roaj;ad BOedabe) seralyed Foal; :

7.
2, 8, 26, 48,7
(A) 154 (B) 120 (C) 82 (D) 80
8. ﬁma%djd DL, Sodrorabriond Nederas 50&36033 ﬁdzﬂoi)e‘)ﬂ Somalred ﬁog.ﬁ25 :
1,9, 25,7, 81, 121
(A) 36 (B) 49 (C) 64 (D) 57
9. e8I ?dom?j ajesiomg, BT ot BadrarabniVord SessadreNHa ﬁoa%obﬁg{ B0&HAAO.
12 4 8,82
3°715° 81" 7 127
15 24 16 25
A — B) — (C) — D) —
( 64 63 ) 63 ( 63
10. 2R3 wery, Sadrerabrifor dederer Foakab FOedabe soraled D08l :
10, 30, 68, 130, 222, ?
(A) 443 (B) 350 (C) 343 (D) 291
11. z&cﬁcﬂegd)ai 50&)‘{1*&) 201 ﬁoa.)oc}dﬁg‘ @RODT. B8 "rdoz.)ozp"aiﬁg( BoRHBD 23&333 TeeNDS
50956&):% SodrrabriYord BoR&HBALD.
20 5 6 24 30 2 3 4ﬂ 18 3 7 ?
(A) 24 (B) 30 (C) 36 (D) 42
12. 3330 ﬁoaiérwﬁgc 200838, ‘P z.?@oi} mrﬁdeg DS ﬁoaiéai» :
5 ?
T
3 8
(A) 9 (B) 10 (C) 20 D) 1

SBFE24
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13.

14.

15.

16.

17.

18.

The numbers are arranged in an order which follows a certain rule. The number which

comes in place of 7" is:

5 7 8 10 1l ?
74 164 346

A) 13 (B) 15 ©) 16 (D) 17

In a certain code language, STUDENT is coded as UWYIIQV. Then the code for TEACHER
is :
(A) VHEHLHT (B) VHHELHT

(C) VEHHLHT (D) VHELHHT
In the given number series, one number is wrong. The wrong number in the series is :

53, 47, 40, 33, 26, 19

(A) 53 (B) 47 (C) 33 (D) 19
Among the following letter groups, one is not following a certain rule. The odd one out is :
(A) MEWGN (B) PBQTX (C) DRYSN (D) CGHKV

The relationship between the two terms to the left or to the right of the sign : : is given in
the question. The number that comes in placeof ‘ ?’1is:
90:110::240:7

(A) 342 (B)
The number of squares in the given figure is:

284 (C) 280 (D) 272

10 (B) 12 © 13 o 15
Space for Rough Work / 2,080 &Jﬁi g
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13. 3300 JoaN¥R 20T AAbBTY LeeBIT. 7' 233 o BB wha Poskody :

14.

15.

16.

17.

18.

SBFE24

5 7 8 10 11 ?
74 164 346

A 13 (B) 156 (C) 16 (D) 17
20D BFR Fodezagonvd STUDENT 833~ UWYIIQV 200 JoBedmaNReINGS. BoreGs
TEACHER =08¢3980a)

(A) VHEHLHT (B) VHHELHT
(C) VEHHLHT (D) VHELHHT
QRS Doary, Fesdoh, wotd Boal; Sy ASS. &8 3z, Bosd;od

53, 47, 40, 33, 26, 19

(A) 53 (B) 47 (C) 33 (D) 19
QeBDS 90V rHorvd wotd rod) QRS SoOWRDY. rbodrt Fecs eZonY rHod) :
(A) MEWGN (B) PBQTX (C) DRYSN (D) CGHKV

3Z,od :: BB b OB, VFTe WUT, B03NY SRR SowoFSR, Jo¥ @B, ¥’ 38 DS s

e www.shikarat.com

90:110::240:7?

(A) 342 (B) 284 (C) 280 (D) 272
$BBODE PBNY Rosoly :
(A) 10 (B) 12 (€) 13 (D) 15

Space for Rough Work / %080 SO:S% g

(7-D1)



19. Four pairs are given, out of which 3 pairs are following a rule between themselves, Wheregyg
one does not. The odd one in the group is :
(A) 21,42 (B) 25,51 (C) 29,59 (D) 19,39
20. Four pairs are given, out of which 3 pairs are following a rule between themselves, wherey
one does not. The odd one in the group is :
(A) 16,18 (B) 40, 45 (C) 56,63 (D) 86,99
th .
21. InJanuary 2024, 13% is a Saturday. The day of the week on January 14" of 2025 is :
(A) Sunday (B) Monday
(C) Tuesday (D) Wednesday
22. Patterns of circles are used to represent relationships among different items. The pattern
represented by the following items is :
(A) Books, Magazines, Words
(B) Men, Women, Human beings
(C) Doctors, Women, Married women
(D) Mammals, Tigers, Cows
23. A car covers four successive 3 km stretches at speeds of 10 km/hr, 20 km/hr, 30 km/hr and
60 km/hr respectively. The average speed of the car for the entire journey is :
(A) 40 km/hr (B) 30 km/hr
(C) 20 km/hr (D) 375 km/hr
24. The number of straight lines that can be drawn from 10 non-collinear points on a plane
are :
(A) 10 B) 20 (C) 45 D) 90
—
Space for Rough Work / 2,883 3032 e
)
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19.

20.

21.

22.

23.

24,

e, eeed TosNYR BN, 3 Toary, Beeriwd B, FWDE 2,00 b, HeOWDI.

AobD Ted3Fe QS rho) :

(A) 21,42 (B) 25,51

(C) 29,59 (D) 19,39

e, 2eed Roal VY RBT. 3 Koary, eeedrish Bab, S 2o dabada, O, Jabab

DT QI 50333?5 o) :

(A) 16,18 (B) 40,45

2024 0 2330 133e BT208 BAT0x=NDHBT. Hormaad 2025 3 2330 14 Sotd WS TI08H) :

(A) a0
(C) Sorideaed

(C) 56,63 (D) 86,99
(B) &neahaed
(D) w5i=ed

QB SHNY SRR FooGNYRY, BSIBTL S)3nY SeBOrYRY, wYBUNS. BYNS 2L0mwos

33D SrPsB0k :

(A) BTSN, AahBHOBAW, BT
B) IIED, DdVaPD, BoRSD
€C) BE, DBYHD, ITob3 Qeabch
(D) BB, DO, BRAW

2,00 5o, 3 e LVGE 4 BROMY) Zebaen 10 dcbe /rio , 20 3e /rio, 30 debe / ro @arie
60 Scbe / Ro Sende) 8eTE. BrPEO TOTPEF 3,005968 VOO Jeridy) :

(A) 40 &e /ro
(C) 20 &ve /rio

(B) 30 3e /rio
(D) 375 3¢ /rio

2,08 JDBLBODS 10 £H3Begn380B Dorhrivod o bR FovTesdny Mosd;ady :

(A) 10 (B) 20

(C) 45 (D) 90

Space for Rough Work / 2.0 ic}ﬁ% :é%*
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25.

26.

27.

28.

29.

30.

31.

In a tournament, 14 teams play league matches. If each team plays against every othe,

team only once, then how many matches are played ?
(D) 78

(A) 105 (B) 91 (C) 85
A and B are among 6 members of a group. In how many ways can they stand for 5

photograph, such that A and B are at extreme ends ?

(A 24 (B) 36 (C) 48 (D) 60

The time taken to cover a distance of 360 km by a train moving at 20 m/s (in hours) is :

1

(A) 4= B) 5 (C) 51 (D) 6
2 2

A cube is unfolded as in the figure. When it is folded to form a cube, the opposite side to

face Cis :

r |2 ]=]7]

kd

A) A (B) B (C) D (D) E

How many numbers between 200 and 600 are divisible by 4, 5 and 6 ?

(A) 5 (B) 6 ) 7 (D) 8

In a certain code language A=C,B=D, C =E and so on. Find the code for PRESIDENT.

RTGKVUEVP (B) RTGUKUEPV
RTGKUEVPV (D) RTGUKFGPV

(A)

(C)
The difference between the simple interest received from two banks on ¥ 5,000 for 2 years
is T 25. The difference between their rate of interest is

Space for Rough Work / 2,583 80!;% B
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95. 0@ BoTYBVDY LRSBAT 14 Sodnw S0YT B,Q wod Wb &red, BTNV BWI.
ForGs BomyBPabe) BT Bog,v Foal,aiv

(A) 105 B) 91 (C) 85 (D) 178

26. o DR D 6 BT o3BT, VIR wod TIURY, QS eredreedd) Briciveert, o BF) D
o0RRe DONYY duwBmes Tegdab Joal; :
(A) 24 (B) 36 (C) 48 (D) 60

27. 2o T3en 360 3e BRTS, 20 /T S FebBew Brihdewa seo (Modrive) :

1
@ 4 B) 5 ©) 5-;- D) 6

28, 20T FRSR) DBITN RLBTS 8B 3aRY, BT, ST, B FISTYNIBT ‘C’ 11 IDFSO

LS BT BZ :
2 www.shikarat.com

A D | E C '

(A A (B) B (C) D (D) E

200 Bod 600 dpvrt W o) Foalniw 4, 5 &) 6 BT FrrHZE ?
©) T D) 8

29.
(A) 5 B) 6

80. ot B, DBodezagonivd A=C,B=D, C = E a3 ade 0ed Snordadangdd. Horesd

PRESIDENT 860 Go8ez9503.

(A) RTGKVUEVP
(C) RTGKUEVPV

5,000 8, 2 SR O WBMW Qs FO¥ WRNY ST T 25 NG, TGS BIriw

(B) RTGUKUEPV
(D) RTGUKFGPV

31.
T w6 BOB FTYID :

(A) 025% (B)
Space for Rough Work / 2.0t 03¢ 3¢

0-5% © 1% (D) 25%
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32. The weight of a bottle completely filled with water is 800 g. When half of the water i

33.

34.

emptied from the bottle, it weighs 500 g. The weight of the empty bottle is :
(A) 200g (B) 300¢g (C) 600g (D) 150g

There are two wings in an office consisting of 36 and 44 employees respectively. If the
average weight of the first wing is 40 kg and that of the second wing is 35 kg, the average
weight of the whole office is -

(&) 3750 kg (B) 37-25kg (C) 38kg (D) 40kg

th
A person had a certain amount with him. He gave ¥ 2,500 to his eldest son, 5/12" of that
certain amount to his second son, and for the youngest son he gave what he had given to
the eldest and the second son. So the youngest son got :

(A) ¥ 10,000 (B) ¥ 15,000 (C) T 25,000 (D) ¥ 30,000

Directions : The cost borne by a publisher for producing a book is given, in percentage, in the
Pie chart. Based on the given information, answer the questions (35 — 36) that follow.

35.

36.

I

SBFE24

A: Cost of the paper
B: Printing cost

C: Finishing cost
D: Royalty

E: Marketing cost

The angle formed at the center in the pie chart representing the marketing cost is :

(A) 30° (B) 45° (C) 54° (D) 60°

If the selling price of the book is ¥ 250, then the amount allocated for marketing expenses
s :

(A) 38500 (B) 37-00 (C) 3750 (D)  75-00

Space for Rough Work / .03 éoﬁ; ﬁ@“u"
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32.

33.

34.

Tozperaen AedN0T @003 2706363 wed), 33 800 Myoriw. ©Bdod g Aedsy, Sricer &ud
033 B8 500 MYONW. TrmEd wod) 279630 BeBD)
(A) 200mzoni®  (B) 300meoriwy  (C) 600m@oridd (D) 150 raoriwd

2ot Be3edobY T Ierinen) egrivd abaeN 36 Terte 44 evtdeeNNvegs. Setu
NSO VTR FoVRD Resey 40 BBrveRm) @R JFria BoRD @ese) 35 828
e8NS, TS Bededad 2ty eutdReNnY FTR0 Besd)

(A) 37-50 kg (B) 37-25kg (C) 38kg (D) 40kg

22), 30k BRFODE 2t BRRY Secue B T 2,500 Torte PO wed, BT 5/12 wria,
28BESe RN Forte BBRT 950) Ot QBB wed), BRBI, NS Forers 2338,
28, I3 :

(A) ¥ 10,000 (B) < 15,000 (C) ¥ 25,000 (D) ¥ 30,000

DotIT - BT ZFvoTeIed (I MF) B ot IS AGTBIY FEITSD PO FeJ DY
Fe5E200 JeBD. B debSab o dhed), AvodT ZZ P (35 - 36) VSO,

35.

36.

A: Bicd 3
s v shikarat.com
DPERETRVIDS I,

eplesiar]
Sroch3ed, S

@90 Qw

Sredhde], 33, Pl 2entay) 8 SFob BeorBO EVOEVTTIRT BReRD) :

(A) 30° (B) 45° (C) 5H4° (D) 60°
G drooees I T 250 TT echde, SPBUN INBIA BRI :
(A) 3500 (B) 3700 (C) 3750 (D) 75:00
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Directions : (Q. No. 37 - 38) P, @ R, S and T are students in a college. Based on the 8lven
information, answer the Questions (37 — 38) that follow.

L P and Q study both History and Economics

II. R and S study both Economics and Political Science

III. S and P study both Sociology and History

IV. T and Q study both Political Science and Sociology

37. The student who studies the most number of subjects is :

(A4) P (B) R © S D T
38. The common subject that P, S and T study is :

(A) History (B) Economics

(C) Political Science (D) Sociology

Directions : (Q. No. 39 - 40) Study the intersecting geometrical figures and go through the
descriptions and answer the questions that follow (39 — 40).

Ao/ \ 3 |

A —— Citizens of Karnataka

R Represents Males

e Represents Educated

O Represents Unemployed

Space for Rough Work / 2,08 301’8* g
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2oedIR : (. 0.37 - 38) P, Q R, S @@ T 2.0a 2feeS g Q. e dvobIab eraos
eel, @VoOF ZZV (37 - 38) WSO,

L Pa®)Q ad%s bd) ogrzeg o0ae, wrehs Sremsed

II. RIS oxezom Hd) Doty dom, Q0B 95300 BredIT

III. S &) P S3ezed ) ad®es o08RR, €gobs Sremaad

IV. T3 Q 00gzox abm) Rarewszed Q0GR WGabs SrewEed

37. ©3 3, IRADMYRY b erda Iy :

4 P (B) R © S M) T
38, P,S 3 T o @erivh epabs ared3diad measor; Ja@od :
A) 283 (B) ecFzoy (C) oo, (D) RS5RTT,

etdII : (T, To. 39 — 40) OF FeOTWVS a5V 3eab LO3NVAY, G b el ) IFTFYY LOZY
2@ &00 SYAD B NI B8 (39 — 40).

A

5 / \
o NINCHERY '
SEA

9

—_— BRIFEIBT vori0esD)

QDRO, B3ADDIS3

BIICRY, BAIDVIT

WD ERENANTRY, B3APDHIT

[ 2

oo
|
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39. “Educated, unemployed males” is represented by :

) 9 (D) 10

(A) 6 (B) 7

40. “Unemployed, educated male citizens of Karnataka” is r epresented by :

(A) 8 (B) 7 (C) 8 D) 9

Directions : (Q. No. 41 - 42) The letters are arranged in a pyramid. Observe the pattern and find

the missing set of letters in the analogy in questions 41 — 42.

a
b ¢ d
e f g h i
J kK 1 m no p
9 r s t u v w X Yy
A
41. bfl:efg::dhn:?
(A) ghd (B) dhi (C) dhn (D) ghi
42. elu:gls::inu:?
(A) gnw (B) mno (C) inu (D) hnv

Directions : (Q. No. 43 — 44) Study the following information carefully and answer the questions
(43 — 44) that follow.

L P and Q are good in hockey and volleyball

II. R and S are good in hockey and kabaddi

III. T and Q are good in cricket and volleyball

IV. R, T and U are good in football and kabaddi

43. The person who is good in hockey, cricket and volleybal] is -
(A) P (B) Q (C) R D) T

44. The person who is good in kabaddi, football and hockey is -

(A) P B) Q (C) R D) T
Space for Rough Work / 2,803 30#% i
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39. “<BIBH, ADTR,LN YHI” BRI :
A) 6 B) 7 © 9 D) 10
40, “BoreIsE DTN, WIS HIE MAr0BT Ry, BB :
@A) 6 B) 7 © 8 D) 9
Road) ; (. Fo. 41 — 42) egorvil SOVEWE eleeBTA, PmOabT) Nabdd e 41 - 42
BZ VO 7o) Z.00 saEaten egony mosiy @S

a
b ¢ d
e f g hi
J] kK 1] m no P
q r s t u vw x ¥
Z
41. bfl:efg::dhn:?
(A) ghd (B) dhi (C) dhn (D) ghi
42. elu:gls::inu:?
(A) gnw (B) mno (C) inu (D) hnv

RoLITIR : (. To. 43 — 44) & VAR dRdIabAl) 2 08avon eg)abd el &v@) vdd 8¥NT 5797
43 - 44) w365

I. Pad Qzmed DA) S9dweerf3[Y eu3a suresd

II. R3S 308 D) 3wBohe eudad et

. T3 Q &3 HA) TeIeerFY euBaD Seresh

IV. R,Taa U g D) 3u8ahe svdad st

43. ®od, &BeF Horte @odeIees B BTTYade LU BT :
(A) P B) Q (C) R (D) T

44. BB, Pexyor Borie B30 eV M0
a) P B) Q (C) R (D) T
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45. If all the English alphabets are written in the reverse order, the letter which comes exactly

46.

47,

in the middle is :
(A) L B) M (©) N (D) No letter
In the following question, two statements and two conclusions are given. Read the

conclusions and then decide which of the given conclusions follow logically from the given
two statements,

Statements : P :  All planets are moons.
Q : All moons are stars.

Conclusions: I ¢ All moons are planets.
I : All planets are stars.

(A)  Only conclusion I follows

(B)  Only conclusion II follows

(C)  Both conclusions I and II follow

(D) None of the conclusions follow

In the following question, two statements and two conclusions are given. Read the

conclusions and then decide which of the given conclusions follow logically from the given
two statements.

Statements : P :  Some papers are files.
Q@ : Some files are pens.

Conclusion: I : Some files are not pens.
I : Some pens are papers.

(A) Only conclusion I follows
(B) Only conclusion II follows
(C) Both conclusions I and II follow

(D) None of the conclusions follow

SBFE24
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45. @oNa* Inrdredad BZoRYRY bady,aaeN wiwen FLRDTETO WS OFO :

(A) L B) M (C) N (D) odred3 930Ie @0

46. kBT BZ b TR BeLBW Torie AT SeTraeRNYRY, QeBeUNG. SeFrrSnYRY vadpedd,
BeRBRVoT alred Beroriay) BVOAING word) BorAMD.

BePSTH : P oy f@niw dogniw.
Q : Uy Bognw JIZIriwd.

eI : I 29U Pognwd n@nw.
I : ouyn@Erw SZ3NW.

(A)  Secdoes I I3 F0reND

(C) Iaad) II o8de Seadrorsrih IOadreNES

(D) abexdde SeddoeSe TOWeNY

47, BB 3F,abe o0 Beddrivh Trto 2O SearrRrivRy KB, earrInva) vddees?,
Be0Br00T airg eararRnw FOWRAS 20t BombAD.
BeDST) : P dus soricnv sE3nveNS,
Q : 30z W SHNVING.
SecVoF: [ 3o sdanw SJrvendade.
I : 3us) SR Srcrvens.
A)  Searers I @rod, BBarNT
(B) Bezdo Sedrers 11 BORNT
©) 1aa II o0de Sedrorarisd WO

(D) ddegyde ererP JOadreNe)
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48.

49.

50.

51.

52.

In a certain rule, 3 * 5 = 34, 7 * 1 = 50, then the value of 6 * 2 is :

(A) 35 (B) 40 (C) 45 (D) 50
In a certain rule, 7 + 8 = 25, 3 + 5 = 16, then the value of 10 + 4 is :
(A) 29 (B) 39 (C) 49 (D) 59

A watch reads 4:30. If the minute hand points East, in what direction will the hour hand
point ?

(A) North (B) North-West

(C) North-East (D) South-East

You are facing North-East, you turn 240° in the clockwise direction and another 30° in the
same direction. The direction you are facing now is :

(A) North-East (B) North-West

(C) South-West (D) North

Virat walked 30 meters towards East, took a right turn and walked 40 meters. Then he
took a left turn and walked 30 meters. In which direction is he now from the starting

point ?
(A) North-East (B) East
(C) South-East (D) South

The number which comes in place of ‘?’is:

MK : i ::dJH : ?
121
100 100 64 81
— B — C) — =,

The numbers have a relation. Find the relation and the number which comes in place of
[ ? ’-

15 : 65 :: ?: 217

(A) 30 (B) 35 (C) 130 (D) 292

SBFE24
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49.

50.

51.

52.

53.

3,

SBFE24

2ot JBFE, QDB 3 * 5 = 34, 7+ 1 = 50, eswwort 6 * 2 B WeJody :
(A) 35 (B) 40 (C) 45 (D) 50

2ol ABFE JDIBO 7 + 3 = 25, 3 + 5 = 16, esort 10 + 4 3 JeJadw :
A 29 (B) 39 (C) 49 (D) 59

RBaireddy Babob 4:30 R, AeeBAY. AVEE Bwwy, o BEFEN 2GS rodab @y
BoeBRDIWE BB,

A) ovss (B) meaiua,

(C) Bz, (D) esrtead

dech BzaR B3 FnHTREB Jo3hBed. B0 NBARCE vty WOV 240° 3N Fo33 B3
30° ©fe BYFO SDATN ) @ WRADE DA, :

(A) B2 (B) @oaind

©€) S (D) ev3s

Qo FoSF B,IB 30 weeso® IBD weod, ShA 40 Deeso’ B3 IBaNEN. FoIBT o3, 3N
30 VeeIT TR BB, WS BeOE JYOE Sirt UBSIDS B3 :

(A) B3z B) Tp3F

(C) eriead D) vgw

P 3% ab 2B wthes Doadad :

MK : @ ::JH : ?
121
100 100 64 81
oz B — {C) — o —
bl 64 ) 81 120 100

BRI ﬁoaizsr‘h?@ 2,00 FOWOG SRR, & FoOZBRD, ORDTBITeR 2 25eride) wHS
o ™
50&3?5&1) g

15:65::?: 217

(A) 30 (B) 35 (C) 130 (D) 222
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: 145’ means ‘tall big boy’ and ‘63
55. In a certain code language, ‘123" means ‘bright little boy’ ; ‘145" ™€ ?

means ‘beautiful little flower’. The digit which means bright 15

D) 4
A) 1 (B) 2 © 3 o
96. The letter group which does not belong to the group is
SVUT, FGHI, CFED, ILKJ
(D) ILKJ

(A)  SVUT (B) FGHI (C) CFED

. fA, BandC
57. The numbers in the figure are related. Find the relation and find the values o C
9 | A12
B |10

8  C |11

(A) 9,18,11 (B) 8,12,10 (C) 14,8,8 (D) 8,13,7

58. The letters and numbers have been arranged under a certain rule. Based on that rule find

the missing letter and number.

L A D H ? L
‘ 2 8 ? 14 24
(A) Hand 18 (B) Kand8
(C) Gand16 (D) Iand 12

Directions : (Q. No. 59 — 60) A man has five sons, named P, @, R, S and T in which R is older
than S but younger than Q. Q is older than P and R but younger than T. P is older than S but

younger than R.
59. Who is at the middle of the order ?

(A) P (B) R © s D) T

60. Who is the second last from the youngest ?
(A) P (B) Q (C) S -

Space for Rough Work / w5ty 3wz ~
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55. 2ot DR, m’oa?ezﬁde‘_’)ﬂ 123’ 20833 ‘bright little boy’, ‘145’ 2033 ‘tall big boy’ &@) ‘637 wowd
‘beautiful little flower’. oy ‘bright’ o= 3 SES, Apudha Josdodw :
A 1 (B) 2 ©) 3 (D) 4

56. ©FONY roATY, rodr Bess egdnY rhow :

SVUT, FGHI, CFED, ILKJ
(A) SVUT (B) FGHI (C) CFED (D) ILKJ

57. BZCOR JoNw w,0m) ABFF Fowoda), Beodd. 8 ForoGaRy, Borbbdd A, B &) Criv
3IabRY, BorBAMD.

9 | A|12
10| 7
8| C |11

A) 9,13, 11 (B) 8,12,10 (C) 14,8,8 D) 8,13,7

58. 2,00 MBS AobHTY Bosl; &) LFONYR) BeeBIT. eTie QDB BSBO, Ded), @eeNDS ©9ZT

2 Boal,ab) BoRELBMO
24 ‘

2 8 ? 14
A) HI) 18 (B) Kaa8

C) G 16 D) I3 12
DoriIeb : (@, o. 59 - 60) wx) FITP, Q R, S & T wow o ro abg ¥ogd, 200 RYS Aoz

&6ad esid Q Ao 6ab. Q, P @& R NoZ &6ah sd T Ao& 88ad. P, S AoZ &0ab &0 R Nod

36ad.

59. D3t HEVO DT dred ?

(A) P (B) R (C) S D) T

80. 3O Zerdor SOBEIWS airedh ?

(A) P B) Q € S D) T
Space for Rough Work / 1 2ot X8 303%; :!(5:}3
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i in indirect
61. Choose the one that best expresses the given sentence 1

62,

64.

speech.

She said, “Can you cook ?”

(A)  She asked me that could I cook.
(B)  She asked me if I could cook.
(C)  She asked me if could I cook.
(D) She asked me if I can cook.

. idi hrase.
Choose the alternative that best expresses the meaning of the idiom/p

ici f thi
Mythili was the real power behind the throne and all the participants were aware of this

(A) the person who advised the queen
(B) the acknowledged leader
(C)  the person who had the real control and power

(D)  the person who controlled the monarch
Find out the part which has a grammatical error, if any, in the following sentence :

Of the two sisters / Meena is / the elder.

(A) Of the two sisters (B) Meena is
(C) the elder. (D) No error
Choose the most suitable one word for the given words/sentence,
One who draws maps and charts.

(A) Graphologist

(B) Mappier

(C) Cartographer

(D) Lexicographer

Space for Rough Work / 2.8t $oxg i
v
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g5, Choose the word that is Opposite in meaning to the given word.
Occasional
(A) Frivolous (B} Steange
(C) Accidental (DF Heguilar
6. Choose the misspelt word.
(A) Miscelleneous
(C) Cautiously
(D) Competition
67. Choose the appropriate word that will complete the sentence meaningfully.
Anupama has a taste poetry.
(A) for (B) in
(C) about (D) on
68. Select a corresponding combination of numbers so that letters arranged accordingly would
form a word.
R | U S G | A
1 2 3 4 5
(A) 32451 (B) 32541 (C) 12453 (D) 12354
69. Identify the part of the speech of the underlined word in the given sentence.
I have not seen her since yesterday.
(A) Conjunction (B) Adverb
(C) Preposition (D) Quantifier

Space for Rough Work / 2.0t @Uﬁ% s
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70.

71.

72.

73.

74.

75.

Choose the option which best expresses the meaning of the given word.
Admonition

(A) Award

(B) Warning

(C) Amazement

(D) Pardon

There was ant in bottle.
(A) the, the (B) a,the
(C) an, the (D) a,a

time for breakfast.

Neha was in a hurry this morning. She did not have

(A) the (B) a
(C) an (D) None of the above
Arpitha is honest teacher.

(A) the (B) an

(C) a (D) None of the above

Yogananda drives very fast.

Choose the correct part of speech of the underlined word.

(A) Pronoun (B) Noun
(C) Adjective (D) Adverb
Identify the noun from the following :

(A) Cleared (B) Clear

(C) Clearly (D) Clearness

Space for Rough Work / 2.8 30x2 e
)
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7.

78.

79.

81.

82,

He said to me, “Where is the post office ?”

(A) He asked me where wag the post oﬁce

(B) He wanted to know where the post of’ﬁ;:e was.
(C) He asked me that where the post office was.
(D) He asked me where the post office was.

Choose the alternative that best expresses the meaning of the idiom/phrase.

Kiran passed himself off ag a noble man.
(A) was regarded as (B)

(C) was thought to be

pretended to be
(D) was looked upon

Identify the part of the sentence that has an error.

Divya Darshini was / senior to / Kanya in college.

(A) Divya Darshini was (B) senior to

(C) Kanya in college. (D) No error
Choose the correctly spelt word.

(A) Surveilance (B) Surveillance
(C) Swurvailance (D) Survelance

Choose the misspelt word.

(A) Passanger (B) Controversial
(C) Conquer (D) Retaliate

Which of the following books is not written by Arun Joshi ?

(A) Cry, the Peacock

(B) The Strange Case of Billy Biswas
(C) The Foreigner

(D) The Apprentice

Choose the word that would complete the sentence meaningfully.

Lots of people had come to attend her lecture because she is a very

(A) engaging (B) imminent

(C) eminent (D) popular

scholar.
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83.

85.

86.

87.

Select the combination of numbers so that letters arranged accordingly would form a

meaningful word.

T | R I F U—‘

1 2 3 4 5 |

(A) 53214 (B) 42531 (C) 12854 (D) 43215

Identify the part of the speech of the underlined word in the given sentence.

Where there is smoke, there is fire.
(A) Article (B) Possessive Adjective

(C)  Quantifier (D) Interrogative Adjective

Choose the synonym for the given word.

Adversity
(A) Helplessness (B) Misfortune
(C) Crisis (D) Failure

Choose the one which best expresses the given sentence in Passive voice.
Who teaches you English ?

(A) By whom will you be taught English ?

(B) By whom were you taught English ?

(C) By whom are you taught English ?

(D) English is taught by whom ?

common Sense is virtue.
(A) No article, a (B) The, the
(C) A a (D) The, a

SBFE24
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88. Sheis honourable person.
(A) None of the below (B) an
(C) a (D) the

89. Identify the part of speech of the underlined word :
Sultana enjoys eating raw vegetables; however, she doesn’t like them cooked.
(A)  Adverb (B) Adjective
(C) Conjunction (D) Verb

90. A.P.J. Abdul Kalam is an example of a/an
(A) Abstract noun (B) Common noun

(C) Proper noun (D) None of the above

91. In R.K. Narayan’s book ‘The Guide’, who does the title refer to ?
(A) Velan (B) Rosie (C) Raju (D) Marco
92. The lives of people living in the Sundarbans features prominently in

(A) The Hungry Tide
(B) The White Tiger

© movmmseouss  ARIIRI]

(D) Himalayan Blunder

93. Choose the most suitable one word for the given words/sentence.

A person who lives alone and avoids other people.
(A) Agnostic (B) Recluse
(C) Ascetic (D) Unsocial

94. Choose the word that is opposite in meaning to the given word.

Obscure
(A) Pedantic (B) Explicit
(C) Implicit (D) Obnoxious
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95. Choose the one which best expresses the given sentence in Passive voice.

The teacher punished the boys who had not done their homework.

(A) The boys who had not done their homework were being punished by the teacher.
(B) The boys who had not done their homework had been punished by the teacher.
(C) The boys were punished by their teacher who had not done their homework.

(D) The boys who had not done their homework were punished by the teacher.

Directions : (Q. No. 96 — 100) : Read the following passage and answer the questions
(96 — 100) that follow.

96.

Journalists argue over functions of a newspaper. I feel that a provincial paper’s purpose is
not only to present and project the news objectively and imaginatively, but to help its
readers to express themselves more effectively, canalizing their aspirations, making more
articulate their demands. A newspaper should reflect the community it serves — warts and
all. When the mirror is held to society, it reveals neglect, injustice, ignorance or
complacency. It should help to eradicate them. It would be pretentious to think that a
newspaper can change the course of world affairs — but at the local limit it can exert
influence, it can probe, it can help get things done. The individual’s voice must not be

stifled. Instead, the readers should be encouraged to express their opinions, fears, hopes

and/or their grievances on this platform.

The expression, ‘warts and all’ in the passage means :

(A) hopes and fears

(B) the reader’s grievances

(C) with no attempt to conceal blemishes and inadequacies

(D) the community’s problems without hiding

SBFE24
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917.

98.

99.

100.

How can a newspaper influence local affairs ?

(A) By encouraging readers to accept their grievances
(B) By focusing on world affairs

(C) By influencing public opinion through half truths

(D) By probing into the ills of society and rallying support for change

What is the main purpose of a newspaper ?
(A) To exert influence on the individuals
(B) To present facts in a blunt way

(C) To encourage readers to be pretentious

(D) To project news objectively and imaginatively

How can the readers air their grievances ?
(A) By supporting the local newspaper
(B) By writing to journalists

(C) By being complacent

(D) By writing to their local newspaper

The writer of the passage highlights the fact that :

(A) anewspaper should only concentrate on local affairs
(B) anewspaper can eradicate injustice

(C) anewspaper should reflect the community it serves

(D) journalists differ in their opinion on the functions of a newspaper
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